@ onon o deyid M3 d & 20

[ab) ¢v sl eCue £ o (O8N
[«4] 0+ DA NY'S2 N3N P ¥

b P :
£ Fo ¢ :L F(¢(t))¢ﬂ)dt < pld=a, ¢(/$):]3 X

AN T %

aan M)t ) RIpeIN
» _
. > F/ZT S
o) Jﬁn 3&- b - « by St A >t
‘ 95(\-\%») ¢(h‘.3
| sl £>0-¢ N
820 VP, APE | & el F
| (<3< cxnzh) = lg.:/'?u:)(u:-xea) —f Fl <& U
y M I oleM, dNion F
ue € (i, X)) Yx€ [a,b)

UND D22 P o= [ug)dr oz @
(EA»O boS,telwa] /s—H<Al:>/¢(g)~y$/b)l<S)<—‘

CNA DD p & A oy o ¢
(E/Apo tS.tele,A) |s_t = o' () —cf’ 1)
Al ls-tleb=> Ig &)'QSIHI<M{/1..:))¢

e e amen m— e e e mme e mae oo—

A<D Pt o[xg np;&o Q=lict,< - <t) "¢ DL Azrmin (8,0) 21

Y A
creltiut) -6 N

M ¢
® alce(xc..pr:)% J;zgs(cg)/ 2 =@lk) /No.s
n [X
[2 P st )- LAl ol <8 & hi-tial< A & A@)< A,
<&

Vi, |l (t-ti) -2 & YN pyea (o
= cebens |, e - é(hc)~dlbc-13 £
/t‘. 6"‘" /¢[C) € "é“-) }'I< W_:;} " “:\:-L\'—l}
@)

v (ke b)

) IC\‘-V."< “‘C-l\‘-&l(ds Az
\2:_; F(d:)(xv-x:-() - Z F(pled) ¢'lee) i -tc-o)l £ S[ﬁ’(d‘)“ (o -ear) - 95-(“)(“_&“)] &
=

<y
< Z M m%—)- ~!E{-(‘.\'-|l: £

(R}

@=> |z F("““)?f(“) Goted =0 F ] <28\ = Prem) et de = [oF
0 ARY< A , Qzltoctic o <bp) , 00 858

gu\le(‘:\'-\, b\:)



|37

NN n(&hf Pﬂg, ?)Lg '(Sz (26 %?) Cawnvn L RI0TH G)@N P)? (Ic

ND22 N3P {-e 29PN

NI

[N

3 bt ply=t* (2
j: Xt = __[_?_ e2tdt < % =2
n h 3 ﬂ:: 3
%14
[’)(./2 ]q. [[%j~7_ ‘C(DL) =%
q 2 , pn=tt (2
L= [ lel 2ede =2
2 Azz
- L Jel. 2t dt ¢: [-2,2]->[0,9]
£ [O,9] = TR
F(:Q—“— JI

_DOYdD N3P s P 24D 735,35 ?’73 (R

+
3 aT s q
I_z £ o\\’, JC.:tzd L N 72L dx
A -2tdt
(8623 - [
= 3% = % (27-3) = %

3 /
Gl L

- S S
§oawde 7= 7 [ ooy Sty dx

dat= o'(6) dt

@ &
¢. [w;p]— [a,b]

SN DL PP R LA
RNV A0 Mo P = ¢ [a, bl — [« 4]
LD DR2IN

[ab] -8 [u,p) -n diffeomophisn p =€ PN 36 928 (oW prind (B



NIND N302()1e

Riermonn 'N )20 (ft oINS

n
Lim ;i- 2_ (4% s (1+ %) Nk 1IN ("
h->03 r=1\
‘Ez(l<}+%<~-<2>hplXDD ’ag j:zbt)nxdat & 51;(:[) R0 Jdi)
xi=;+%,oscsvs F&) Al
0 202F s
(st =) Sup £ /
1 0 o > X

- 5
= WY (' SN

" =Fe) Qb A F)

A(RY =
)*of'AJeOm £ =y F

[*F =
= j:lx’hxoh(
1

|;§“ DY\ 3¢ fac chi — f;'l[ﬂc‘“) o{u]‘

—

I

Lim EP” (£)

n~> 00

AP

=[5 — S5 de 7
= [ %4 -’L%L:(.Z
=@22-1) = (-%)

= 22 -3

Lok > x 58 [Feof<h, [ab) &6 332 pauia £ (A

Q(F)—,S?(F) = Z(Xc-u;-.)((sup F - inf F)
=y . Aewr 2D B2

2

Feodelaond Fe) -F) & pyad F

§
o (ei=d)FE) & P Oow
(a:l"ll e Ja kA p",’)) YIINND

,P .3]\1513 56 &=

[ (ee=dDY €| < b -xen) - | £66))

< AA l)(_\' - 3(\';|1

< i(XC"XQ—g)?:M ¢
- X 3 - N — o N
|§m£:;;/~o}if§“ Ll ¢ 30-58<m S =% S MAP) (b-a)
PN e g |Riemm 2120~ [ ) < M- AP (b-a)

S > S0 )



